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1] i) (25 ÷ 28)5 x 2-5 = (25/28)5 x 2-5 

              = (25-8)5 x 2-5  
              = (2-3)5 x 2-5 
              = 2-15-5   = 2-20 
 

ii) (-3)4 x (5/3)4 = (3)4 x 54/34 [As (−)4 = +ve] 
      = 34 x 54/34 
      = 54 
 
iii) (32)3 ÷ (63)2 = 36 ÷ 66  

          = 36 ÷ (3 x 2)6 

          =       36 
       36 x 26 
          =    1/26 
          =     2-6 
 
iv)  (212 ÷ 27) x 9-5 =   212/27 x (32)-5 

      = 212-7  x 3-10 
      = 25 x 3-10  
 
2] i) (-7)3 ÷ (-7)6 x (-7)5 = -73/-76 x -75 

    = (-7)3+5-6 
    = (-7)8-6 
    = (-7)2 
    = 49 



 
ii) 2-4 x 93 x 4 = 2-4 x (32)3 x 22 
   = 2-4 + 2  × 36 
   = 2-2 x 36 
   = 1/22 x 36 
   = 729/4 
   
iii) (30 ÷60) x 90  = 30/60 x 90 [As a0 = 1] 

    = 1 
 
iv) [3-1 + 4-1 + 5-1]2 = [1/3 + ¼ + 1/5]2 

 
    = 20 + 15 + 12 2 
      60 
    =  (47/60)2  
 

    =  47 x 47 
        60 x 60 

    =  2209 
        3600 
 
v)    {(1/3)-2 – (1/2)-3} ÷ (1/4)-2 

 = {(3-1)-2 – (2-1)-3} ÷ (1/22)−2 

 = {(32) – (23)} ÷ (2-2)-2 

 = {9 – 8} ÷ 24 

 = 1/24  
 = 1/16 
 
vi) (5-1 x 2-1) ÷ 6-1 = (1/5 x ½) ÷ 1/6 

      = 1/5 x 1/2 x  6 
      = 3/5 
 
vii)     3-5 x 10-5 x 125 
  5-7 x 6-5 
 =  3-5 x (5 x 2)-5 x (5)3 
  5-7 x (2 x 3)-5 
 =  3-5 x 5-5 x 2-5 x 53 
         5-7 x 2-5 x 3-5 
 =  5-5 x 53 
                 5-7 



 = 5-5+3-(-7) 
 = 5-5+3+7 

 = 55 
 = 3125 
 
viii)   (5/9)-2 x (3/5)-3 x (3/5)0 
 = (5/32)-2 x (3/5)-3 x 1 [As a0 = 1] 
 = 5-2/3-4 x 3-3/5-3  

= 5-2+3 x 3-3+4 
= 5 x 3 
= 15  

 
3]      (2/3)-2 = (3/2)4 x (2/3)x 

→ (2/3)-2 = (2/3)-4 x (2/3)x    [As (a/b)m = (b/a)-m] 

→ (2/3)-2 = (2/3)- 4 + x     [am = an  m = n] 
→ -2 = -4 + x 
→ - 2 + 4 = x 
→ X = 2 Ans. 

4] i)    0.000578 

 = 
578

1000000
   =   

578

100
 x  

1

10000
    =   5.78 x 10-4 

 
ii)    450000  =  4.5 x 105 
 
5. 9m ÷ 3-2 = 94 

→ 9m/3-2  = 94 

→ (32)𝑚 / 3−2 = (32)4 
→ 32m – (-2) = 38 
→ 2m + 2 = 8 
→ 2m = 8 – 2 
→ 2m = 6 
→ m = 3 Ans. 

 
6. 3-5 x 32 ÷ 3-6 + (22 x 3)2 + (2/3)-1 + 2-1 + (1/19)-1 

 
 = 3-5 x 32  + 24 x 32 + 3 + 1 + 19 
                3-6                      2    2 
 
 = 3-5 + 2 – (-6)  + 16 x 9 +3/2 + 1/2 + 19 

 = 33 +144+ 3/2 + 1/2 + 19 
= 27 + 144 + 3/2 + 1/2 + 19 
= 190 + 3/2  + 1/2 



=  380 + 3 + 1 
            2  
 
=  384 
      2 
= 192 

                 
 
 

 


